§ cowerity 8 Poinfa of Inflaxion
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The graph of

(x=3)72/[4(x-1)1




The graph of f(x)=x"3, xin[-1, 1].

£2(x)=6%, £’ (x) <0, if x<0, £°(0)=0, £’(x).0, if x>0.
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§ Groghivg Strfegy
| Yy=$
In order T diown Ha grﬁ(’l\cf o~ -Fwwc‘\'u‘m ﬁ
we Follow #a -pol\owiyw stepa.
) Determine tha domawm of f.
2) Detoriwune the WM&&M} tha gm‘,&/%m}
| (Wmefdc abot #e g-avn?
-the vagin? )
3) Find the infercits (#he uitirsectionsof the
QM{J\ and the x-axis, and the y-oxn),
4) Solve F'x)=0, find the Lol extremna
( moxima [ wunima) 46 w‘w% 5 ond determine
the g:mcreasinj / Aecreasinj ntervals .
1 5) Solve $160=0, and defermine poivb of
l:v\{-Qﬂ%iﬁ'\ 4 c,mve/x}‘iﬁj ( convex U-Fmrd /d ownward,
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otligpe asppleles Y= axth  (aro)
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Ex. Medch the grak of y=fe= 42(3?)
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From th above ofasumtion, togetior with the follouw
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we shatch the grapk of Y=fe0) a0 follows




Lei' £: (o,b) —7"2  f v said & be convex
‘% .,6 for all %, % e (a4, b),

| F( X)) < L (500 +fow),

e -F(m-:id»e-ll,‘l'. & %,,%) v nit Bosher ( greater)
than tha mid-pt. of F(2) and $02,)

(a,b). |
(i) Tf § 0o convex, theum for ETICHESL

£ (21 +0-8%)
< o fxd+ (- 0F(%),

i) Suppese £ i» well-defived on (4 6), Ti\ev\
£ b convex (H— $160) 0 fov 88 x€(4h)
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